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QUESTION 1

A customer set up the certification requirement for art absence. After scheduling the absence for a subordinate, the line
manager wants to add a certification requirement as an action item, but is unable to do it.

What is the reason for this?

A. You can add the certification requirement to appear as an action item only during the manual absence enroliment
process.

B. Line managers can add the certification requirement, on demand, as an action item when they approve the absence;

C. Only HR Specialists can add the certification requirement, on demand, as an action item when they schedule an
absence.

D. Only workers can add the certification requirement, on demand, as an action item when they schedule an absence.

E. Line managers can configure the certification requirement to appear as an action item after completion of the
absence.

Correct Answer: B

QUESTION 2

Which is the parameter for limiting processing to a specific set of workers in the Evaluate Absence process?
A. Person Rule

B. Person Eligibility

C. Person Selection Rule

D. Person

E. Person Subset

Correct Answer: D

QUESTION 3

You defined a two-year rolling backward term in your qualification plan with UOM as calendar days. You set up bands
that entitle workers to 50-days absence at payment percentage 100% and an additional 50 days at payment percentage
50%.

A worker took an absence for 92 days, from May 1, 2015 to July 31, 2015. The same worker schedules another
absence using the same plan July 1, 2016 to July 30, 2016 for 30 days.

What is the available entitlement for this absence?

A. 50 working days at 100 percent and the next 50 working days at 50 percent
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B. 8 working days at 100 percent

C. 50 working days at 100 percent and the next 8 working days at 50 percent
D. 0 working days at 100 percent and the next 0 working days at 50 percent
E. 8 working days at 50 percent

Correct Answer: A

QUESTION 4

Which statement is correct about rate definitions?

A. You can associate rate definitions to absence certifications.
B. You can associate rate definitions to absence types.

C. Rates are calculated and resolved in Absence Management.
D. You can associate rate definitions to absence plans.

Correct Answer: D

QUESTION 5

Which two overlap rules are available when selecting a rolling forward or rolling backward term type? (Choose two.)
A. Ignore

B. None

C. Exclude

D. Split

E. Formula

Correct Answer: CD
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